Roads We’'ve Never Taken

Intermediate Clogging Line Dance

Music: High Valley (album: Dear Life); 122 bpm

Begin with left foot

Intro: Wait 16 beats
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Repeats with same foot
Toe Tapper

Stomp Double

Red Rooster; full L

Clogover Loop Vine RF
Rock Slurs
Rock Heel Pivot Basic; 1/2 L

Clogging Express
Stomp Double RF
Joey

Stomp Slur Vine RF
Kangaroo
Mountain Shuffles
Drag Steps

Simones

by Lois Elling, 1/18
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Thanks again to Cinda.

DS-Tch(f)SI-Dt(ots)SI-Tch(bk)SlI

(p)Sto-DS-DS-RS

DS(s)-DS(xf)-To(s)To(xb)-To(s)To(xf)-DS-RS-RS-RS; full turn L on
Rock-Steps

DS(s)-DS(xf)-DS(s)-LoopS(xb)-DS(s)-DS(xf)-DS(s)-RS

RkHw-SlurSt

RkHw-Pvt(1/2 L)St-DS-RS

DS/Dt-HpSta-HpTch(bk)-HpSta

DS-To(xb)To(s)-To(s)To(xb)-To(s)St

(p)Sto-SlurSt(xb)-DS-RS

DS-SI Rk-St SI-Rk St-St SI-DS-DS-RS
(p)Sto-DtSI-DtSl(both)-Dr(both)SI(lift L); repeat with same foot
DrSt; back up

Dt(bk)SI-BrSI-Tch(xf)SI-Tch(xf)SI-Tch(f)SI-Tch(xf)SI-DS-RS;
repeat with opposite foot

Repeat Part A (Toe Tapper, Stomp Double, Red Rooster, Clogover Loop Vine, Rock Slurs, Rock Heel Pivot Basic, repeat)
Repeat Part B (Clogging Express, Stomp Double, Joey, Stomp Slur Vine, Kangaroo, Mountain Shuffles, Drag Steps)

PART C2:
(16) 2
(16) 2

Simones
Me and You; 1/2 R ea.

DS-Dt(xf)SI-Dt(ots)SI-Rk(bk)St-Dt(ots)SI-Rk(bk)St-DS-RS (turn 1/2 R
on last two beats; repeat with same foot

Repeat Part B (Clogging Express, Stomp Double, Joey, Stomp Slur Vine, Kangaroo, Mountain Shuffles, Drag Steps)

PART C3:
(16) 2
(16) 2
(16) 2
(16) 2

END:
(2) 1

Simones
Me & You; 1/4 R ea.
Simones
Me & You; 1/4 R ea.

Run & Stomp

Abbreviations

Dt = DoubleToe St, S =Step
1/4 R ea. to face bk R, Rk = Rock DS = Dt-Step
RS = Rock-Step Tch =Touch
1/4 R ea, to face front SI=Slide Sto = Stomp
To =Toe (takes weight)  Hp =Hop

Hw = Heel (takes weight) Sta = Stamp
DS-(p)Sto Dr =Drag Br =Brush

f =front bk = back

p = pause s=side

xb = cross back
R =right

xf = cross front
L = left



